Lindsay Bond

All Matches, Senior Grade, Coldstream, 20-Oct-1956 to 18-Mar-2017

 Mat
 Cts
 ROs
 Sts
 GFs
 GFWon

 221
 61

Results by Season

Season	Mat	Inn	NO	Runs	HS	Ave	SR	100	50	Overs	Maid	RunsA	Wkts	Ave	Best	10W	5WI	Cts	Sts	ROs
1962/63	1	2	1	-	0*	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-
1966/67	10	10	4	21	14*	3.50	-	-	-	2	-	6	-	-	0-3	-	-	1	-	-
1967/68	12	12	4	27	19	3.38	-	-	-	57.2	14	161	7	23.00	3-24	-	-	2	-	-
1968/69	16	19	3	163	61	10.19	-	-	1	33.4	5	153	8	19.12	3-16	-	-	4	-	-
1969/70	14	11	2	57	15	6.33	-	-	-	48	12	132	13	10.15	4-16	-	-	7	-	-
1970/71	18	16	5	155	47	14.09	-	-	-	118.2	17	437	33	13.24	5-22	-	1	3	-	-
1971/72	21	23	3	390	75*	19.50	-	-	1	176.5	35	578	37	15.62	6-15	1	2	5	-	-
1972/73	15	15	6	437	80*	48.56	-	-	2	127	16	395	34	11.62	5-36	-	1	5	-	-
1973/74	11	11	2	171	50*	19.00	-	-	1	86	18	262	19	13.79	4-23	-	-	3	-	-
1974/75	17	17	1	270	38	16.88	-	-	-	167	32	455	39	11.67	5-11	-	3	6	-	-
1975/76	16	16	2	264	66	18.86	-	-	1	146	41	348	35	9.94	6-13	-	2	3	-	-
1977/78	14	13	2	280	77*	25.45	-	-	1	152	33	367	37	9.92	8-50	-	3	3	-	-
1982/83	23	16	2	194	40	13.86	-	-	-	203.5	77	410	58	7.07	6-13	-	2	10	-	-
1983/84	21	12	4	118	32*	14.75	-	-	-	222	73	369	58	6.36	5-7	-	3	4	-	-
1984/85	10	6	2	26	12	6.50	-	-	-	96.3	33	173	23	7.52	5-11	-	1	4	-	-
1985/86	1	-	-	-	-	-	-	-	-	13	4	21	2	10.50	1-6	-	-	-	-	-
1987/88	1	-	-	-	-	-	-	-	-	11	1	62	4	15.50	4-62	-	-	1	-	-

Results by Grade

Grade	Mat Inn	NO	Runs	HS	Ave	SR	100	50	Overs	Maid	RunsA	Wkts	Ave	Best	10W	5WI	Cts	Sts	ROs
Senior Grade	e 221 199	43	2573	80*	16.49	-	-	7	1660.3	411	4329	407	10.64	8-50	1	18	61	-	-

Batting Statistics

Inns	NOs	Runs	l i i i i i i i i i i i i i i i i i i i	HS	Ave	Var%	50s	100s	Balls	SR	4s	6s	Ducks	Ret
199	43	2573	80* Vs Laurist 197	72/7	16.49	82.38%	7	-	-	-	245	4	22	1
			Out Most By -	M Gi	bbs(4)	L Walke	r(4) D	on Co	chrane	e(4)				

Batting Highlights

Score/s	Team	Vs	Ground	Grade	Date
dnb	Coldstream Senio	Tekau Senior	Tekau	Senior Grade	31-Jan-1988
dnb	Coldstream Senio	Fairfield Senior	Fairfield	Senior Grade	17-Nov-1985
dnb	Coldstream Senio	Lauriston Senior	Lowcliffe	Senior Grade	02-Feb-1985
9(0){ct}	Coldstream Senio	Rakaia Senior	Rakaia	Senior Grade	26-Jan-1985
2(0){b}	Coldstream Senio	Technical Senior	Lowcliffe	Senior Grade	19-Jan-1985
dnb,dnb	Coldstream Senio	Allenton Senior	Allenton	Senior Grade	12-Jan-1985
12(0){lb}	Coldstream Senio	Tinwald Senior	Lowcliffe	Senior Grade	05-Jan-1985
dnb	Coldstream Senio	Star Senior	Lowcliffe	Senior Grade	10-Nov-1984
dnb	Coldstream Senio	Technical Senior	Technical	Senior Grade	03-Nov-1984
1(0){ct}	Coldstream Senio	Tinwald Senior	Tinwald Oval	Senior Grade	27-Oct-1984
0(0)*	Coldstream Senio	Tekau Senior	Tekau	Senior Grade	20-Oct-1984
2(0)*	Coldstream Senio	Methven Senior	Methven	Senior Grade	13-Oct-1984
0(0){ro}	Coldstream Senio	Tekau Senior	Tekau	Senior Grade	24-Mar-1984
14(0){lb}	Coldstream Senio	Allenton Senior	Allenton	Senior Grade	17-Mar-1984
4(0)*	Coldstream Senio	Methven Senior	Lowcliffe	Senior Grade	10-Mar-1984

5(0){b}	Coldstream Senio	Lauriston Senior	Lowcliffe	Senior Grade	04-Mar-1984
dnb	Coldstream Senio	Allenton Senior	Lowcliffe	Senior Grade	25-Feb-1984
dnb	Coldstream Senio	Technical Senior	Technical	Senior Grade	11-Feb-1984
dnb	Coldstream Senio	Ash Coll	Lowcliffe	Senior Grade	04-Feb-1984
dnb	Coldstream Senio	Star Senior	Star	Senior Grade	28-Jan-1984
13(0){ct}	Coldstream Senio	Lauriston Senior	Lauriston	Senior Grade	21-Jan-1984
3(0){ct}	Coldstream Senio	Methven Senior	Lowcliffe	Senior Grade	14-Jan-1984
6(0){b}	Coldstream Senio	Tekau Senior	Lowcliffe	Senior Grade	07-Jan-1984
dnb,dnb	Coldstream Senio	Rakaia Senior	Lowcliffe	Senior Grade	17-Dec-1983
dnb	Coldstream Senio	Allenton Senior	Allenton	Senior Grade	04-Dec-1983
14(0){b},dnb	Coldstream Senio	Technical Senior	Technical	Senior Grade	26-Nov-1983
dnb	Coldstream Senio	Ash Coll	Lowcliffe	Senior Grade	19-Nov-1983
8(0)*	Coldstream Senio	Star Senior	Lowcliffe	Senior Grade	12-Nov-1983
14(0)*	Coldstream Senio	Lauriston Senior	Lowcliffe	Senior Grade	05-Nov-1983
dnb	Coldstream Senio	Methven Senior	Methven	Senior Grade	29-Oct-1983
5(0){ct}	Coldstream Senio	Tekau Senior	Tekau	Senior Grade	22-Oct-1983
dnb	Coldstream Senio	Rakaia Senior	Lowcliffe	Senior Grade	15-Oct-1983
32(0)*	Coldstream Senio	Allenton Senior	Lowcliffe	Senior Grade	08-Oct-1983
2(0){ct}	Coldstream Senio	Fairfield Senior	Fairfield	Senior Grade	26-Mar-1983
dnb	Coldstream Senio	Ash Coll	Ashburton HS	Senior Grade	19-Mar-1983
11(0)*	Coldstream Senio	Ash Coll	Ashburton HS	Senior Grade	18-Mar-1983
5(0){ct}	Coldstream Senio	Methven Senior	Lowcliffe	Senior Grade	12-Mar-1983
dnb	Coldstream Senio			Senior Grade	
9(0){ct}	Coldstream Senio		Lowcliffe	Senior Grade	
1(0){ct}	Coldstream Senio			Senior Grade	
6(0){ct}	Coldstream Senio		Lowcliffe	Senior Grade	
40(0){ct}	Coldstream Senio		Lowcliffe	Senior Grade	
15(0)*	Coldstream Senio		Ashburton HS	Senior Grade	
dnb	Coldstream Senio		Methven	Senior Grade	
	Coldstream Senio			Senior Grade	
dnb,dnb	Coldstream Senio		Allenton		18-Dec-1982
4(0){ct}					11-Dec-1982
25(0){ct}	Coldstream Senio		-		
1(0){b},dnb	Coldstream Senio		Star		04-Dec-1982
14(0){lb}	Coldstream Senio		Ashburton HS	Senior Grade	
14(0){ct}	Coldstream Senio		Lowcliffe		20-Nov-1982
39(0){ct}	Coldstream Senio		Lowcliffe		13-Nov-1982
dnb	Coldstream Senio				06-Nov-1982
6(0){ro}	Coldstream Senio		Lowcliffe	Senior Grade	
dnb	Coldstream Senio			Senior Grade	
dnb,dnb	Coldstream Senio		Lowcliffe	Senior Grade	
2(0){ct}	Coldstream Senio		Lowcliffe	Senior Grade	
19(0){ct}	Coldstream Senio	Ash Coll	Lowcliffe	Senior Grade	
4(0){ro}	Coldstream Senio	Star Senior	Lowcliffe	Senior Grade	04-Mar-1978
19(0){b}	Coldstream Senio	Lauriston Senior	Lowcliffe	Senior Grade	18-Feb-1978
15(0){ct}	Coldstream Senio	Star Senior	Star	Senior Grade	
22(0){ct}	Coldstream Senio	Old Boys Senior	Fairfield	Senior Grade	28-Jan-1978
77(0)*	Coldstream Senio	Ash Coll	Ashburton HS	Senior Grade	22-Jan-1978
23(0){lb}	Coldstream Senio	Technical Senior	Lowcliffe	Senior Grade	24-Dec-1977
10(0){b}	Coldstream Senio	Lauriston Senior	Lauriston	Senior Grade	03-Dec-1977
24(0){ct}	Coldstream Senio	Star Senior	Lowcliffe	Senior Grade	26-Nov-1977
dnb	Coldstream Senio	Allenton Senior	Allenton	Senior Grade	19-Nov-1977
35(0)*	Coldstream Senio	Old Boys Senior	Lowcliffe	Senior Grade	12-Nov-1977
2(0){ct}	Coldstream Senio	Ash Coll	Lowcliffe	Senior Grade	05-Nov-1977
28(0){ct}	Coldstream Senio	Tekau Senior	Lowcliffe	Senior Grade	29-Oct-1977

	Coldstream Senio			Senior Grade	
0(0)*	Coldstream Senio	Tekau Senior	Tekau	Senior Grade	20-Mar-197
4(0){ro}	Coldstream Senio	Star Senior	Lowcliffe	Senior Grade	06-Mar-197
28(0){ro}	Coldstream Senio	Technical Senior	Lowcliffe	Senior Grade	14-Feb-197
2(0){ct}	Coldstream Senio	Lauriston Senior	Lowcliffe	Senior Grade	31-Jan-197
dnb	Coldstream Senio	Tekau Senior	Lowcliffe	Senior Grade	24-Jan-197
31(0)*	Coldstream Senio	Star Senior	Ashburton Oval	Senior Grade	10-Jan-197
66(0){ro}	Coldstream Senio	Methven Senior	Lowcliffe	Senior Grade	20-Dec-197
13(0){ct}	Coldstream Senio	Technical Senior	Technical	Senior Grade	13-Dec-197
10(0){lb}	Coldstream Senio	Ash Coll	Lowcliffe	Senior Grade	06-Dec-197
10(0){ct}	Coldstream Senio	Lauriston Senior	Lauriston	Senior Grade	29-Nov-197
40(0){ct}	Coldstream Senio	Tekau Senior	Tekau	Senior Grade	22-Nov-197
19(0){ct}	Coldstream Senio	Allenton Senior	Allenton	Senior Grade	18-Nov-197
4(0){b}	Coldstream Senio	Methven Senior	Methven	Senior Grade	01-Nov-197
1(0){lb},20(0){ro}	Coldstream Senio	Technical Senior	Lowcliffe	Senior Grade	25-Oct-197
16(0){ct}	Coldstream Senio		Ashburton HS	Senior Grade	18-Oct-197
0(0){ct}	Coldstream Senio	Lauriston Senior	Lowcliffe	Senior Grade	11-Oct-197
2(0){st}	Coldstream Senio			Senior Grade	08-Mar-197
5(0){b}	Coldstream Senio		Lowcliffe	Senior Grade	
21(0){ct}	Coldstream Senio		Lowcliffe	Senior Grade	
8(0){lb}	Coldstream Senio		Lowcliffe	Senior Grade	
8(0){ct}			Ashburton Domain		
6(0)*	Coldstream Senio			Senior Grade	
32(0){ct}	Coldstream Senio		Star	Senior Grade	
33(0){st}	Coldstream Senio		Lowcliffe	Senior Grade	
14(0){ct}	Coldstream Senio			Senior Grade	
			Methven		
15(0){ct}	Coldstream Senio			Senior Grade	
27(0){b}	Coldstream Senio		Tekau	Senior Grade	
20(0){ct}	Coldstream Senio		Ashburton HS	Senior Grade	
1(0){ct}	Coldstream Senio			Senior Grade	
2(0){b}	Coldstream Senio			Senior Grade	
38(0){ct}	Coldstream Senio		Lowcliffe	Senior Grade	
10(0){b}	Coldstream Senio			Senior Grade	
28(0){ct}	Coldstream Senio			Senior Grade	
6(0){ct}	Coldstream Senio	Lauriston Senior	Technical	Senior Grade	23-Mar-197
12(0){ct}	Coldstream Senio	Ash Coll	Ashburton HS	Senior Grade	16-Mar-197
50(0)*,dnb	Coldstream Senio	Star Senior	Lowcliffe	Senior Grade	02-Mar-197
29(0){lb}	Coldstream Senio	Technical Senior	Ashburton Oval	Senior Grade	16-Feb-197
27(0){ct}	Coldstream Senio	Tekau Senior	Tekau	Senior Grade	19-Jan-197
36(0){ct}	Coldstream Senio	Ash Coll	Ashburton HS	Senior Grade	15-Dec-197
0(0)*	Coldstream Senio	Star Senior	Star	Senior Grade	08-Dec-197
1(0){ct}	Coldstream Senio	Lauriston Senior	Lauriston	Senior Grade	17-Nov-197
0(0){st}	Coldstream Senio	Tekau Senior	Lowcliffe	Senior Grade	03-Nov-197
10(0){b}	Coldstream Senio	Methven Senior	Lowcliffe	Senior Grade	20-Oct-1973
0(0){ct}	Coldstream Senio	Ash Coll	Lowcliffe	Senior Grade	13-Oct-197
32(0)*	Coldstream Senio	Tekau Senior	Tekau	Senior Grade	10-Mar-197
46(0){lb}	Coldstream Senio	Methven Senior	Lowcliffe	Senior Grade	24-Feb-197
68(0)*	Coldstream Senio	Allenton Senior	Lowcliffe	Senior Grade	17-Feb-197
80(0)*	Coldstream Senio		Lauriston	Senior Grade	
35(0)*	Coldstream Senio			Senior Grade	
32(0){b}	Coldstream Senio		Lowcliffe	Senior Grade	
12(0){ro}	Coldstream Senio		Lowcliffe	Senior Grade	
13(0){ct}	Coldstream Senio		Ashburton HS	Senior Grade	
	Coldstream Senio		Methven	Senior Grade	
3(0){b}	Solusticani Senio	Meanven Senior	Mourven	Senior Grade	00-Dec-197

	Coldstream Senio		Allenton	Senior Grade	
0(0){ct}	Coldstream Senio			Senior Grade	
34(0){lb}	Coldstream Senio	Technical Senior	Lowcliffe	Senior Grade	18-Nov-1972
7(0)*	Coldstream Senio	Tekau Senior	Lowcliffe	Senior Grade	04-Nov-1972
20(0){ct}	Coldstream Senio	Old Boys Senior	Ashburton Oval	Senior Grade	28-Oct-1972
dnb,49(0)*	Coldstream Senio	Star Senior	Lowcliffe	Senior Grade	21-Oct-1972
30(0)*	Coldstream Senio	Old Boys Senior	Ashburton Oval	Senior Grade	25-Mar-1972
7(0){ct}	Coldstream Senio	Star Senior	Lowcliffe	Senior Grade	11-Mar-1972
1(0){lb}	Coldstream Senio	Ash Coll	Ashburton HS	Senior Grade	04-Mar-1972
34(0){lb}	Coldstream Senio	Fairfield Senior	Lowcliffe	Senior Grade	26-Feb-1972
2(0){b}	Coldstream Senio	Lauriston Senior	Lauriston	Senior Grade	19-Feb-197
25(0){ct}	Coldstream Senio	Methven Senior	Lowcliffe	Senior Grade	12-Feb-197
19(0){b},22(0)*	Coldstream Senio	Old Boys Senior	Lowcliffe	Senior Grade	05-Feb-197
0(0){ro}	Coldstream Senio	Ash Coll	Lowcliffe	Senior Grade	29-Jan-1972
20(0){ct}	Coldstream Senio	Star Senior	Allenton	Senior Grade	22-Jan-1972
3(0){lb}	Coldstream Senio	Fairfield Senior	Fairfield	Senior Grade	15-Jan-1972
19(0){ct},dnb	Coldstream Senio	Technical Senior	Lowcliffe	Senior Grade	08-Jan-1972
14(0){ro}	Coldstream Senio	Tekau Senior	Lowcliffe	Senior Grade	18-Dec-197
6(0){lb}	Coldstream Senio	Allenton Senior	Allenton	Senior Grade	11-Dec-197
21(0){b}	Coldstream Senio	Lauriston Senior	Lowcliffe	Senior Grade	04-Dec-197
8(0){ct},dnb	Coldstream Senio	Methven Senior	Methven	Senior Grade	
26(0){lb}			Ashburton Domain		
8(0){ct}	Coldstream Senio	-	Ashburton HS	Senior Grade	
13(0){ct}	Coldstream Senio		Lowcliffe	Senior Grade	
19(0){ct}	Coldstream Senio		Lowcliffe	Senior Grade	
7(0){lb},11(0){ct}				Senior Grade	
75(0)*	Coldstream Senio		Tekau	Senior Grade	
24(0){b}	Coldstream Senio		Ashburton HS	Senior Grade	
	Coldstream Senio		Methven	Senior Grade	
16(0){ct}					
8(0){b}	Coldstream Senio			Senior Grade	
0(0){b}	Coldstream Senio	•		Senior Grade	
47(0){ct}	Coldstream Senio		Star	Senior Grade	
20(0){ct},2(0){b}	Coldstream Senio		Lowcliffe	Senior Grade	
dnb	Coldstream Senio		Lowcliffe	Senior Grade	
3(0){ct}	Coldstream Senio		Allenton	Senior Grade	
dnb	Coldstream Senio	Lauriston Senior	Lowcliffe	Senior Grade	16-Jan-197
0(0){b}	Coldstream Senio	Technical Senior	Technical	Senior Grade	09-Jan-197
5(0)*	Coldstream Senio	Ash Coll	Lowcliffe	Senior Grade	19-Dec-197
dnb	Coldstream Senio	Old Boys Senior	Lowcliffe	Senior Grade	12-Dec-197
5(0){lb}	Coldstream Senio	Star Senior	Lowcliffe	Senior Grade	05-Dec-197
2(0)*,21(0)*	Coldstream Senio	Methven Senior	Methven	Senior Grade	28-Nov-197
1(0)*,dnb	Coldstream Senio	Tekau Senior	Lowcliffe	Senior Grade	21-Nov-197
0(0)*	Coldstream Senio	Allenton Senior	Lowcliffe	Senior Grade	14-Nov-197
1(0){b}	Coldstream Senio	Lauriston Senior	Lauriston	Senior Grade	07-Nov-197
dnb	Coldstream Senio	Ash Coll	Ashburton HS	Senior Grade	10-Oct-197
0(0)*	Coldstream Senio	Tekau Senior	Lowcliffe	Senior Grade	28-Feb-197
4(0){b}	Coldstream Senio	Star Senior	Allenton	Senior Grade	14-Feb-197
15(0){b}	Coldstream Senio	Ash Coll	Lowcliffe	Senior Grade	17-Jan-197
3(0){b}	Coldstream Senio	Allenton Senior	Lowcliffe	Senior Grade	14-Jan-197
0(0){b}	Coldstream Senio		Ashburton HS	Senior Grade	
dnb	Coldstream Senio			Senior Grade	
dnb	Coldstream Senio		Lowcliffe	Senior Grade	
4(0){b}	Coldstream Senio			Senior Grade	
9(0)*	Coldstream Senio		Lowcliffe	Senior Grade	
	Coldoarouni Ochio		201101110	Somer Grade	201101-100

	Coldstream Senio	Methven Senior	Methven	Senior Grade	22-Nov-1969
10(0){lb}	Coldstream Senio	Allenton Senior	Allenton	Senior Grade	15-Nov-1969
3(0){ct}	Coldstream Senio	Ash Coll	Ashburton HS	Senior Grade	25-Oct-1969
5(0){lb}	Coldstream Senio	Old Boys Senior	Lowcliffe	Senior Grade	18-Oct-1969
4(0){b}	Coldstream Senio	Technical Senior	Lowcliffe	Senior Grade	11-Oct-1969
1(0){ct}	Coldstream Senio	Technical Senior	Technical	Senior Grade	22-Mar-1969
3(0){b},27(0)*	Coldstream Senio	Ash Coll	Lowcliffe	Senior Grade	08-Mar-1969
10(0){b},4(0){b}	Coldstream Senio	Lauriston Senior	Lowcliffe	Senior Grade	01-Mar-1969
$1(0){ro},61(0){ct}$	Coldstream Senio	Technical Senior	Lowcliffe	Senior Grade	22-Feb-1969
28(0){ro}	Coldstream Senio	Ash Coll	Ashburton HS	Senior Grade	15-Feb-1969
5(0){ct}	Coldstream Senio	Ash Coll	Ashburton HS	Senior Grade	01-Feb-1969
1(0){b},dnb	Coldstream Senio	Methven Senior	Lowcliffe	Senior Grade	25-Jan-1969
3(0){b},dnb	Coldstream Senio	Technical Senior	Lowcliffe	Senior Grade	18-Jan-1969
0(0){ct}	Coldstream Senio	Allenton Senior	Lowcliffe	Senior Grade	11-Jan-1969
0(0)*,10(0){ct}	Coldstream Senio	Lauriston Senior	Lauriston	Senior Grade	21-Dec-1968
1(0){ct}	Coldstream Senio	Old Boys Senior	Star	Senior Grade	14-Dec-1968
0(0)*	Coldstream Senio	Tekau Senior	Lowcliffe	Senior Grade	07-Dec-1968
dnb	Coldstream Senio	Methven Senior	Lowcliffe	Senior Grade	23-Nov-1968
5(0){b},dnb	Coldstream Senio	Technical Senior	Technical	Senior Grade	16-Nov-1968
2(0){lb},dnb	Coldstream Senio	Allenton Senior	Allenton	Senior Grade	09-Nov-1968
1(0){b}	Coldstream Senio	Tekau Senior	Tekau	Senior Grade	12-Oct-1968
0(0){b}	Coldstream Senio	Allenton Senior	Allenton	Senior Grade	23-Mar-1968
0(0){ct}	Coldstream Senio	Methven Senior	Lowcliffe	Senior Grade	09-Mar-1968
dnb	Coldstream Senio	Technical Senior	Technical	Senior Grade	02-Mar-1968
0(0){b},dnb	Coldstream Senio	Tekau Senior	Ashburton Domain	Senior Grade	16-Feb-1968
1(0)*	Coldstream Senio	Old Boys Senior	Tekau	Senior Grade	10-Feb-1968
19(0){b}	Coldstream Senio	Lauriston Senior	Lauriston	Senior Grade	20-Jan-1968
0(0)*	Coldstream Senio	Methven Senior	Ashburton HS	Senior Grade	13-Jan-1968
4(0)*	Coldstream Senio	Tekau Senior	Lowcliffe	Senior Grade	16-Dec-1967
3(0)*	Coldstream Senio	Ash Coll	Ashburton HS	Senior Grade	02-Dec-1967
0(0){ct},dnb	Coldstream Senio	Allenton Senior	Allenton	Senior Grade	25-Nov-1967
0(0){b},0(0){b}	Coldstream Senio	Tekau Senior	Technical	Senior Grade	28-Oct-1967
0(0){ro}	Coldstream Senio	Ash Coll	Lowcliffe	Senior Grade	14-Oct-1967
0(0){ct}	Coldstream Senio	Technical Senior	Lowcliffe	Senior Grade	28-Jan-1967
dnb	Coldstream Senio	Old Boys Senior	Lowcliffe	Senior Grade	14-Jan-1967
1(0){ct}	Coldstream Senio	Lauriston Senior	Lauriston	Senior Grade	17-Dec-1966
dnb	Coldstream Senio	Methven Senior	Lowcliffe	Senior Grade	03-Dec-1966
0(0){b}	Coldstream Senio	Technical Senior	Technical	Senior Grade	26-Nov-1966
0(0){ro},0(0){ct}	Coldstream Senio		Ashburton HS	Senior Grade	
0(0)*	Coldstream Senio			Senior Grade	
0(0)*,14(0)*	Coldstream Senio			Senior Grade	
5(0){ct}	Coldstream Senio		Lowcliffe	Senior Grade	
1(0)*	Coldstream Senio		Methven	Senior Grade	
0(0){ct},0(0)*	Coldstream Senio		Ashburton HS	Senior Grade	
	e shaea eann e enile		, ionisarion no	Comor Orado	201001000

Results by Batting Position

Λ
4
1
2
-
-
-

8	13	2	79	35*	7.18	-	-	-
9	19	4	125	28	8.33	-	-	-
10	17	7	46	14	4.60	-	-	-
11	14	7	11	5	1.57	-	-	-

Bowling Statistics

Overs	Maids	RunsA	Wkts	Best		Ave	5WI	10WM	Econ	SR
1660.3	411	4329	407	8-50 Vs Al	ln 1977/78	10.64	18	1	2.61	24.48
			-			((0))				

Out Most - Dan Hilgendorf(9)

Bowling Highlights

O-M-R-W	Team	Vs	Ground	Grade	Date
11-1-62-4	Coldstream Senio	Tekau Senior	Tekau	Senior Grade	31-Jan-1988
6-1-15-1, 7-3-6-1	Coldstream Senio	Fairfield Senior	Fairfield	Senior Grade	17-Nov-1985
7-4-16-1	Coldstream Senio	Lauriston Senior	Lowcliffe	Senior Grade	02-Feb-1985
15-6-31-3	Coldstream Senio	Rakaia Senior	Rakaia	Senior Grade	26-Jan-1985
9-4-9-1	Coldstream Senio	Technical Senior	Lowcliffe	Senior Grade	19-Jan-1985
7-0-18-2, 10-4-16-3	Coldstream Senio	Allenton Senior	Allenton	Senior Grade	12-Jan-1985
8-1-28-1	Coldstream Senio	Tinwald Senior	Lowcliffe	Senior Grade	05-Jan-1985
9-5-11-5, 6-2-4-0	Coldstream Senio	Star Senior	Lowcliffe	Senior Grade	10-Nov-1984
4.3-1-7-0	Coldstream Senio	Technical Senior	Technical	Senior Grade	03-Nov-1984
7-1-13-1	Coldstream Senio	Tinwald Senior	Tinwald Oval	Senior Grade	27-Oct-1984
7-4-4-2	Coldstream Senio	Tekau Senior	Tekau	Senior Grade	20-Oct-1984
7-1-16-4	Coldstream Senio	Methven Senior	Methven	Senior Grade	13-Oct-1984
6-3-11-5	Coldstream Senio	Tekau Senior	Tekau	Senior Grade	24-Mar-1984
9-3-12-1	Coldstream Senio	Allenton Senior	Allenton	Senior Grade	17-Mar-1984
9-0-26-1	Coldstream Senio	Methven Senior	Lowcliffe	Senior Grade	10-Mar-1984
7-2-22-3	Coldstream Senio	Lauriston Senior	Lowcliffe	Senior Grade	04-Mar-1984
12-5-18-4	Coldstream Senio	Allenton Senior	Lowcliffe	Senior Grade	25-Feb-1984
13-7-14-2	Coldstream Senio	Technical Senior	Technical	Senior Grade	11-Feb-1984
6-0-16-0	Coldstream Senio	Ash Coll	Lowcliffe	Senior Grade	04-Feb-1984
17-5-23-3	Coldstream Senio	Star Senior	Star	Senior Grade	28-Jan-1984
13-4-30-3	Coldstream Senio	Lauriston Senior	Lauriston	Senior Grade	21-Jan-1984
11-4-23-1	Coldstream Senio	Methven Senior	Lowcliffe	Senior Grade	14-Jan-1984
11-2-27-3	Coldstream Senio	Tekau Senior	Lowcliffe	Senior Grade	07-Jan-1984
8-3-12-4, 7-1-10-2	Coldstream Senio	Rakaia Senior	Lowcliffe	Senior Grade	17-Dec-1983
12-4-13-1	Coldstream Senio	Allenton Senior	Allenton	Senior Grade	04-Dec-1983
8-1-20-4, 4-2-9-0	Coldstream Senio	Technical Senior	Technical	Senior Grade	26-Nov-1983
15-7-14-2	Coldstream Senio	Ash Coll	Lowcliffe	Senior Grade	19-Nov-1983
8-2-17-1	Coldstream Senio	Star Senior	Lowcliffe	Senior Grade	12-Nov-1983
12-6-10-2	Coldstream Senio	Lauriston Senior	Lowcliffe	Senior Grade	05-Nov-1983
11-2-21-3	Coldstream Senio	Methven Senior	Methven	Senior Grade	29-Oct-1983
11-7-6-3	Coldstream Senio	Tekau Senior	Tekau	Senior Grade	22-Oct-1983
5-1-7-5	Coldstream Senio	Rakaia Senior	Lowcliffe	Senior Grade	15-Oct-1983
7-2-8-5	Coldstream Senio	Allenton Senior	Lowcliffe	Senior Grade	08-Oct-1983
5-3-2-1	Coldstream Senio	Fairfield Senior	Fairfield	Senior Grade	26-Mar-1983
5-2-7-2	Coldstream Senio	Ash Coll	Ashburton HS	Senior Grade	19-Mar-1983
2-0-8-0	Coldstream Senio	Ash Coll	Ashburton HS	Senior Grade	18-Mar-1983
7-3-16-4	Coldstream Senio	Methven Senior	Lowcliffe	Senior Grade	12-Mar-1983
6-3-5-2	Coldstream Senio	Technical Senior	Lowcliffe	Senior Grade	05-Mar-1983
5-1-11-1	Coldstream Senio	Allenton Senior	Lowcliffe	Senior Grade	19-Feb-1983
7.5-1-23-3	Coldstream Senio	Lauriston Senior	Lauriston	Senior Grade	12-Feb-1983
5-1-13-2	Coldstream Senio	Star Senior	Lowcliffe	Senior Grade	05-Feb-1983

file:///C:/Users/Dave2/AppData/Local/Temp/~csreport.htm

9-1-23-2	Coldstream Senio	Tekau Senior	Lowcliffe	Senior Grade	29-Jan-1983
4-2-6-0, 7-2-20-2	Coldstream Senio	Ash Coll	Ashburton HS	Senior Grade	22-Jan-1983
5-3-5-3	Coldstream Senio	Methven Senior	Methven	Senior Grade	15-Jan-1983
10-6-13-4, 9-5-16-3	Coldstream Senio	Technical Senior	Lowcliffe	Senior Grade	08-Jan-1983
8-3-12-2	Coldstream Senio	Allenton Senior	Allenton	Senior Grade	18-Dec-1982
17-7-38-3	Coldstream Senio	Lauriston Senior	Lowcliffe	Senior Grade	11-Dec-1982
14-8-13-6	Coldstream Senio	Star Senior	Star	Senior Grade	04-Dec-1982
14-4-42-4	Coldstream Senio	Tekau Senior	Ashburton HS	Senior Grade	27-Nov-1982
8-0-32-2, 3-1-8-1	Coldstream Senio	Ash Coll	Lowcliffe	Senior Grade	20-Nov-1982
11-6-14-0	Coldstream Senio	Methven Senior	Lowcliffe	Senior Grade	13-Nov-1982
6-2-7-3, 4-1-12-1	Coldstream Senio	Technical Senior	Technical	Senior Grade	06-Nov-1982
8-4-10-1	Coldstream Senio	Allenton Senior	Lowcliffe	Senior Grade	30-Oct-1982
13-6-16-5	Coldstream Senio	Lauriston Senior	Lauriston	Senior Grade	23-Oct-1982
1-0-2-0	Coldstream Senio	Star Senior	Lowcliffe	Senior Grade	16-Oct-1982
10-2-36-1	Coldstream Senio	Tekau Senior	Lowcliffe	Senior Grade	09-Oct-1982
7-1-26-1	Coldstream Senio	Ash Coll	Lowcliffe	Senior Grade	11-Mar-1978
7-1-22-1	Coldstream Senio	Star Senior	Lowcliffe	Senior Grade	04-Mar-1978
13-2-33-3	Coldstream Senio	Lauriston Senior	Lowcliffe	Senior Grade	18-Feb-1978
14-3-38-2	Coldstream Senio	Star Senior	Star	Senior Grade	11-Feb-1978
10-3-20-1	Coldstream Senio		Fairfield	Senior Grade	
11-0-19-2	Coldstream Senio	,	Ashburton HS	Senior Grade	
8-1-11-0	Coldstream Senio			Senior Grade	
7-0-32-1	Coldstream Senio			Senior Grade	
15-8-14-6	Coldstream Senio		Lowcliffe	Senior Grade	
16-2-50-8	Coldstream Senio		Allenton	Senior Grade	
				Senior Grade	
9-2-14-2, 3-2-1-1	Coldstream Senio				
7-1-28-4	Coldstream Senio		Lowcliffe	Senior Grade	
14-3-37-5	Coldstream Senio		Lowcliffe	Senior Grade	
11-4-22-0	Coldstream Senio			Senior Grade	
6-4-5-2	Coldstream Senio		Tekau	Senior Grade	
6-1-7-3	Coldstream Senio		Lowcliffe	Senior Grade	
6-2-7-0	Coldstream Senio			Senior Grade	
6-2-16-1	Coldstream Senio			Senior Grade	
13-9-13-6, 8-3-16-0	Coldstream Senio		Lowcliffe	Senior Grade	
6-1-36-1	Coldstream Senio		Ashburton Oval	Senior Grade	
3-0-8-1, 4-0-9-1	Coldstream Senio	Methven Senior	Lowcliffe	Senior Grade	
9-2-26-2	Coldstream Senio	Technical Senior	Technical	Senior Grade	
14-4-28-4	Coldstream Senio	Ash Coll	Lowcliffe	Senior Grade	06-Dec-1975
20-4-56-2	Coldstream Senio	Lauriston Senior	Lauriston	Senior Grade	29-Nov-1975
18-5-39-6	Coldstream Senio	Tekau Senior	Tekau	Senior Grade	22-Nov-1975
5-1-14-1	Coldstream Senio	Allenton Senior	Allenton	Senior Grade	18-Nov-1975
5-2-11-1	Coldstream Senio	Methven Senior	Methven	Senior Grade	01-Nov-1975
4-0-6-3, 2-0-10-0	Coldstream Senio	Technical Senior	Lowcliffe	Senior Grade	25-Oct-1975
8-1-25-0	Coldstream Senio	Ash Coll	Ashburton HS	Senior Grade	18-Oct-1975
3-0-16-1	Coldstream Senio	Lauriston Senior	Lowcliffe	Senior Grade	11-Oct-1975
5-0-26-1	Coldstream Senio	Lauriston Senior	Lauriston	Senior Grade	08-Mar-1975
5-3-7-1	Coldstream Senio	Ash Coll	Lowcliffe	Senior Grade	01-Mar-1975
8-1-15-3, 6-1-11-5	Coldstream Senio	Tekau Senior	Lowcliffe	Senior Grade	15-Feb-1975
5-0-16-0	Coldstream Senio	Ash Coll	Lowcliffe	Senior Grade	08-Feb-1975
8-0-29-1	Coldstream Senio	Old Boys Senior	Ashburton Domain	Senior Grade	01-Feb-1975
13-1-38-0	Coldstream Senio			Senior Grade	
11-4-26-5	Coldstream Senio		Star	Senior Grade	
5-0-16-1	Coldstream Senio		Lowcliffe	Senior Grade	
9-0-45-2	Coldstream Senio			Senior Grade	

	Coldstream Senio			Senior Grade (
10-1-40-2	Coldstream Senio		Tekau	Senior Grade 3	
7-2-16-0	Coldstream Senio	Ash Coll	Ashburton HS	Senior Grade 2	23-Nov-1974
7-3-4-0	Coldstream Senio	Old Boys Senior	Lowcliffe	Senior Grade 1	
11-1-28-4, 8-8-0-3	Coldstream Senio	Technical Senior	Lowcliffe	Senior Grade ()9-Nov-1974
16-4-29-5	Coldstream Senio	Star Senior	Lowcliffe	Senior Grade ()2-Nov-1974
10-0-48-1	Coldstream Senio	Lauriston Senior	Lauriston	Senior Grade 1	19-Oct-1974
6-1-20-2, 5-0-19-0	Coldstream Senio	Fairfield Senior	Lowcliffe	Senior Grade 1	12-Oct-1974
5-0-34-2	Coldstream Senio	Lauriston Senior	Technical	Senior Grade 2	23-Mar-1974
5-0-17-1	Coldstream Senio	Ash Coll	Ashburton HS	Senior Grade 1	16-Mar-1974
4-3-4-0, 2-1-3-1	Coldstream Senio	Star Senior	Lowcliffe	Senior Grade (02-Mar-1974
5-1-8-0, 1-0-3-0	Coldstream Senio	Technical Senior	Ashburton Oval	Senior Grade 1	16-Feb-1974
7-1-17-2, 2-1-7-1	Coldstream Senio	Tekau Senior	Tekau	Senior Grade 1	19-Jan-1974
12-3-22-3	Coldstream Senio	Ash Coll	Ashburton HS	Senior Grade 1	15-Dec-1973
9-2-27-1	Coldstream Senio	Star Senior	Star	Senior Grade (08-Dec-1973
9-0-38-0	Coldstream Senio	Lauriston Senior	Lauriston	Senior Grade 1	17-Nov-1973
9-0-48-1	Coldstream Senio	Tekau Senior	Lowcliffe	Senior Grade	03-Nov-1973
8-3-23-4	Coldstream Senio	Methven Senior	Lowcliffe	Senior Grade 2	20-Oct-1973
8-3-11-3	Coldstream Senio	Ash Coll	Lowcliffe	Senior Grade 1	13-Oct-1973
5-1-14-0	Coldstream Senio	Tekau Senior	Tekau	Senior Grade 1	10-Mar-1973
14-2-50-2	Coldstream Senio	Methven Senior	Lowcliffe	Senior Grade 2	24-Feb-1973
11-1-21-2	Coldstream Senio	Allenton Senior	Lowcliffe	Senior Grade 1	17-Feb-1973
8-0-36-5, 1-0-2-0	Coldstream Senio	Lauriston Senior	Lauriston	Senior Grade 1	10-Feb-1973
8-1-31-3	Coldstream Senio	Technical Senior	Lowcliffe	Senior Grade ()3-Feb-1973
7-1-20-4, 3-0-10-0	Coldstream Senio	Tekau Senior	Lowcliffe	Senior Grade 2	20-Jan-1973
8-1-37-1	Coldstream Senio	Star Senior	Lowcliffe	Senior Grade 2	23-Dec-1972
8-1-20-2	Coldstream Senio	Ash Coll	Ashburton HS	Senior Grade 1	16-Dec-1972
4-1-9-0	Coldstream Senio	Methven Senior	Methven	Senior Grade ()9-Dec-1972
9-2-24-2	Coldstream Senio	Allenton Senior	Allenton	Senior Grade ()2-Dec-1972
4-1-14-3, 2-0-3-1	Coldstream Senio	Lauriston Senior	Lowcliffe	Senior Grade 2	25-Nov-1972
6-1-11-2, 1-0-1-0	Coldstream Senio	Technical Senior	Lowcliffe	Senior Grade 1	18-Nov-1972
8-0-25-0	Coldstream Senio	Tekau Senior	Lowcliffe	Senior Grade ()4-Nov-1972
10-0-40-2	Coldstream Senio	Old Boys Senior	Ashburton Oval	Senior Grade 2	28-Oct-1972
5-2-12-2, 5-1-15-3	Coldstream Senio	•	Lowcliffe	Senior Grade 2	
5-0-21-0	Coldstream Senio		Ashburton Oval	Senior Grade 2	
5-1-15-0	Coldstream Senio		Lowcliffe	Senior Grade 1	
5-0-25-3	Coldstream Senio		Ashburton HS	Senior Grade (
5-0-20-2	Coldstream Senio		Lowcliffe	Senior Grade 2	
11-3-50-1	Coldstream Senio		Lauriston	Senior Grade 1	
12-1-33-5	Coldstream Senio		Lowcliffe	Senior Grade 1	
3.5-1-15-6, 10-4-17-4			Lowcliffe	Senior Grade	
4-0-22-1, 3-0-9-1	Coldstream Senio	,	Lowcliffe	Senior Grade 2	
4-0-22-1, 3-0-9-1	Coldstream Senio		Allenton	Senior Grade 2	
	Coldstream Senio		Fairfield	Senior Grade 2	
10-1-53-2					
3-3-0-0, 3-0-10-2	Coldstream Senio			Senior Grade (
12-1-62-1	Coldstream Senio		Lowcliffe	Senior Grade 1	
12-2-24-1	Coldstream Senio		Allenton	Senior Grade 1	
8-2-26-0	Coldstream Senio			Senior Grade (
8-1-23-0	Coldstream Senio		Methven	Senior Grade 2	
8-2-17-0	Coldstream Senio				
11-3-23-3	Coldstream Senio		Ashburton HS	Senior Grade 1	
6-2-6-0	Coldstream Senio		Lowcliffe	Senior Grade (
5-1-14-1, 2-0-6-0	Coldstream Senio		Lowcliffe	Senior Grade	
5-4-3-0, 4-0-11-1	Coldstream Senio	Technical Senior	Technical	Senior Grade 2	23-Oct-1971

	Coldstream Senio		Tekau	Senior Grade	
5-1-19-2	Coldstream Senio	Methven Senior	Methven	Senior Grade	20-Mar-1971
5-1-12-0	Coldstream Senio	Lauriston Senior	Lowcliffe	Senior Grade	13-Mar-1971
7-1-37-0	Coldstream Senio	Old Boys Senior	Lowcliffe	Senior Grade	06-Mar-1971
7-2-21-2, 2-0-10-0	Coldstream Senio	Star Senior	Star	Senior Grade	20-Feb-1971
7-0-33-1, 3-0-20-1	Coldstream Senio	Methven Senior	Lowcliffe	Senior Grade	13-Feb-1971
5-0-34-1	Coldstream Senio	Tekau Senior	Lowcliffe	Senior Grade	06-Feb-1971
5-0-26-1	Coldstream Senio	Allenton Senior	Allenton	Senior Grade	30-Jan-1971
4-1-4-1	Coldstream Senio	Lauriston Senior	Lowcliffe	Senior Grade	16-Jan-1971
5-3-9-1	Coldstream Senio	Technical Senior	Technical	Senior Grade	09-Jan-1971
5-0-23-1	Coldstream Senio	Ash Coll	Lowcliffe	Senior Grade	19-Dec-1970
7-0-22-5, 4-2-3-1	Coldstream Senio	Old Boys Senior	Lowcliffe	Senior Grade	12-Dec-1970
6-0-30-2	Coldstream Senio	Star Senior	Lowcliffe	Senior Grade	05-Dec-1970
5-2-8-0	Coldstream Senio	Methven Senior	Methven	Senior Grade	28-Nov-1970
5-0-15-3, 4-0-16-1	Coldstream Senio	Tekau Senior	Lowcliffe	Senior Grade	21-Nov-1970
7.2-1-14-4, 3-0-12-1	Coldstream Senio	Allenton Senior	Lowcliffe	Senior Grade	14-Nov-1970
10-3-25-3	Coldstream Senio	Lauriston Senior	Lauriston	Senior Grade	07-Nov-1970
7-0-44-2	Coldstream Senio	Ash Coll	Ashburton HS	Senior Grade	10-Oct-1970
4-0-16-0	Coldstream Senio	Tekau Senior	Lowcliffe	Senior Grade	28-Feb-1970
4-3-6-1	Coldstream Senio	Star Senior	Allenton	Senior Grade	14-Feb-1970
2-0-6-0	Coldstream Senio	Ash Coll	Lowcliffe	Senior Grade	17-Jan-1970
3-1-7-2	Coldstream Senio	Allenton Senior	Lowcliffe	Senior Grade	14-Jan-1970
6-3-8-0	Coldstream Senio	Old Boys Senior	Ashburton HS	Senior Grade	10-Jan-1970
5-3-8-0	Coldstream Senio	Technical Senior	Technical	Senior Grade	20-Dec-1969
2-1-2-0	Coldstream Senio	Tekau Senior	Lowcliffe	Senior Grade	13-Dec-1969
6-0-19-2	Coldstream Senio	Lauriston Senior	Lowcliffe	Senior Grade	06-Dec-1969
1-0-1-1	Coldstream Senio	Star Senior	Lowcliffe	Senior Grade	29-Nov-1969
3-0-12-1	Coldstream Senio	Ash Coll	Ashburton HS	Senior Grade	25-Oct-1969
3-0-16-0, 4-0-16-4	Coldstream Senio	Old Boys Senior	Lowcliffe	Senior Grade	18-Oct-1969
5-1-15-2	Coldstream Senio	Technical Senior	Lowcliffe	Senior Grade	11-Oct-1969
1-0-9-1	Coldstream Senio	Technical Senior	Technical	Senior Grade	22-Mar-1969
2-0-29-0	Coldstream Senio	Ash Coll	Lowcliffe	Senior Grade	08-Mar-1969
3-0-14-0	Coldstream Senio		Lowcliffe	Senior Grade	
7-2-16-3	Coldstream Senio	Ash Coll	Ashburton HS	Senior Grade	
4-2-5-1	Coldstream Senio	Methven Senior	Lowcliffe	Senior Grade	
.4-0-5-1	Coldstream Senio	Allenton Senior	Lowcliffe	Senior Grade	
4-0-32-0	Coldstream Senio	Lauriston Senior		Senior Grade	
2-1-8-0	Coldstream Senio	Methven Senior	Lowcliffe	Senior Grade	
3-0-14-1	Coldstream Senio			Senior Grade	
2-0-8-0	Coldstream Senio		Allenton	Senior Grade	
5-0-13-1	Coldstream Senio		Tekau	Senior Grade	
4-0-24-3	Coldstream Senio		Allenton	Senior Grade	
5-2-6-0	Coldstream Senio			Senior Grade	
4-0-14-0	Coldstream Senio			Senior Grade	
2-0-9-0, 3-1-3-0	Coldstream Senio			Senior Grade	
4-0-27-0	Coldstream Senio			Senior Grade	
8-3-21-2	Coldstream Senio		Lowcliffe	Senior Grade	
10-3-26-0	Coldstream Senio		Ashburton HS	Senior Grade	
9-0-23-1	Coldstream Senio		Allenton	Senior Grade	
1.2-1-2-0	Coldstream Senio		Technical	Senior Grade	
7-4-6-1	Coldstream Senio		Lowcliffe	Senior Grade	
1-0-3-0	Coldstream Senio			Senior Grade	
	Coldstream Senio				
1-0-3-0	Colustream Senio	weuwen Senior	Methven	Senior Grade	13-001-1900

10WM	Team	Vs	Ground	Date
10-32	Coldstream Senio	Old Boys Senior	Lowcliffe	05-Feb-1972

First Match

Batting Bowling	Team	Vs	Ground	Date
0{ct},0*	Coldstream Senio	AHS 1st XI	Ashburton HS	23-Feb-1963

Results by Opposition Team

Opposition	Mat	Inn	NO	Runs	HS	Ave	SR	100	50	Overs	Maid	RunsA	Wkts	Ave	Best	10W	5WI	Cts	Sts	ROs
AHS 1st XI	1	2	1	-	0*	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-
Allenton Senior	21	18	2	188	68*	11.75	-	-	1	146	30	344	38	9.05	8-50	-	1	8	-	-
Allenton Senior B	2	1	1	32	32*	-	-	-	-	24	6	42	10	4.20	5-8	-	1	-	-	-
Ash Coll	32	30	6	380	77*	15.83	-	-	1	213	45	587	46	12.76	4-28	-	-	7	-	-
Fairfield Senior	6	5	-	86	34	17.20	-	-	-	51	10	155	10	15.50	2-20	-	-	1	-	-
Lauriston Senior	30	30	5	306	80*	12.24	-	-	1	231.5	50	734	50	14.68	5-16	-	2	2	-	-
Methven Senior	26	23	6	295	66	17.35	-	-	1	173	41	454	38	11.95	5-33	-	1	7	-	-
Old Boys Senior	16	15	5	190	35*	19.00	-	-	-	109.5	23	297	27	11.00	6-15	1	2	6	-	-
Rakaia Senior	3	1	-	9	9	9.00	-	-	-	35	11	60	14	4.29	5-7	-	1	-	-	-
Star Senior	24	21	6	379	50*	25.27	-	-	1	209	64	496	54	9.19	6-13	-	5	10	-	-
Technical Senior	28	24	2	319	61	14.50	-	-	1	197.3	66	391	45	8.69	4-13	-	-	11	-	-
Tekau Senior	30	27	9	376	75*	20.89	-	-	1	255.2	63	728	73	9.97	6-13	-	5	9	-	-
Tinwald Senior	2	2	-	13	12	6.50	-	-	-	15	2	41	2	20.50	1-13	-	-	-	-	-

Results by Ground

Ground	Mat	Inn	NO	Runs	HS	Ave	SR	100	50	Overs	Maid	RunsA	Wkts	Ave	Best	10W	5WI	Cts	Sts	ROs
Allenton	15	12	-	88	20	7.33	-	-	-	122	25	324	27	12.00	8-50	-	1	5	-	-
Ashburton Domain	3	3	-	34	26	11.33	-	-	-	16	2	46	1	46.00	1-29	-	-	-	-	-
Ashburton HS	22	22	6	286	77*	17.88	-	-	1	136	28	383	28	13.68	4-42	-	-	6	-	-
Ashburton Oval	5	5	3	116	31*	58.00	-	-	-	40	3	146	3	48.67	2-40	-	-	5	-	-
Fairfield	4	3	-	27	22	9.00	-	-	-	38	11	96	6	16.00	2-53	-	-	-	-	-
Lauriston	14	14	2	160	80*	13.33	-	-	1	123.5	22	426	25	17.04	5-16	-	2	1	-	-
Lowcliffe	112	101	22	1419	68*	17.96	-	-	4	844.5	215	2127	229	9.29	6-13	1	11	24	-	-
Methven	11	9	4	72	21*	14.40	-	-	-	63	15	137	16	8.56	4-16	-	-	5	-	-
Rakaia	1	1	-	9	9	9.00	-	-	-	15	6	31	3	10.33	3-31	-	-	-	-	-
Star	7	6	1	96	47	19.20	-	-	-	74	24	158	19	8.32	6-13	-	2	3	-	-
Technical	14	11	-	57	14	5.18	-	-	-	82.5	29	191	18	10.61	4-20	-	-	6	-	-
Tekau	12	11	5	208	75*	34.67	-	-	1	98	30	251	31	8.10	6-39	-	2	6	-	-
Tinwald Oval	1	1	-	1	1	1.00	-	-	-	7	1	13	1	13.00	1-13	-	-	-	-	-

Last updated 09-Sep-2017.